Three couples have dinner tonight. They sit at the table like this:

WINDOW

TABLE

N

This is what we know:

¢ No man is next to another man;

e No man is sitting next to his wife or facing his wife;
e MrJones isn’t next to Mrs Robinson, and he isn’t facing Mrs Robinson;
e Mrs Robinson likes Mrs Gordon, she is sitting next to her;
e Mr Gordon isn’t sitting next to the window.

Find out where everyone is sitting.
Cut out the labels and try!

Mr JONES

Mr ROBINSON

Mr GORDON

Mrs JONES

Mrs ROBINSON

Mrs GORDON

Labels and tables on the next page for the pupils to use for their work.
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